

BY EMAIL and RESS

January 23, 2015 Our File No. 20140002

Ontario Energy Board 2300 Yonge Street 27th Floor Toronto, Ontario M4P 1E4

Attn: Kirsten Walli, Board Secretary

Dear Ms. Walli:

Re: EB-2014-0002 - Horizon 2015-2019 Rates - SEC Cost Claim

We are counsel for the School Energy Coalition. We enclose the cost claim of the School Energy Coalition, on the Board's form and enclosing docket details. We apologize for filing late.

We note that while the undersigned Jay Shepherd took the lead on this matter, Mark Rubenstein of our office took the main responsibility for interrogatories (given that the timing overlapped with the OPG case), and also for the City of Hamilton motion. Because of our division of responsibility, we were able to avoid any duplication of effort.

This was a substantial application, one of the early applications based on Custom IR. Many of the key issues were the subject of a comprehensive settlement in which SEC was actively involved. In addition, there were complex cost allocation and rate design issues that had to be determined after an oral hearing, and SEC took an active role in that hearing.

All of which is respectfully submitted.

Yours very truly,

JAY SHEPHERD P. C.

Jay Shepherd

cc: Wayne McNally, SEC (email)

Interested Parties

Tel: (416) 483-3300 Cell: (416) 804-2767 Fax: (416) 483-3305

jay.shepherd@canadianenergylawyers.com

www.canadianenergylawyers.com



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

				lı	nstructions				
- All claims m - A separate ' Disbursemen However, on - The cost cla - A CV for eac	"Detail "Detail Its Bein Iy one ' Iim mus ch cons	in Canadian of Fees and g Claimed") 'Summary o st be suppor ultant/analy	dollars. If applicab Disbursements Beir is required for each f Fees and Disburse ted by a completed est must be attached	le, state ex Rate: g Claimed lawyer, an ments" cov Affidavit si I unless pro	" (comprising a "State and yering the whole of the grand by a representation on Cost Aware and C	ement d articli he part ative o as pres	f initial currence Country: of Fees Being Cing student/par ty's cost claim soff the party. scribed on the Co	ziaimed" and alegal. hould be pro	a "Statement of ovided.
File # EB-	2014	-0002			Process: Horizon	n 201 5	5-2019 Rates		
Party:	School Energy Coalition			Affiant's Na	ame: <mark>J</mark>	lay Shepherd			
HST Numbe	er:	83673-546	4-RT0001			HST F	Rate Ontario:	13.00%	
			ıll Registrant Jnregistered Other		Qu	ualifyir	ng Non-Profit Tax Exempt		
					Affidavit				
l,		Ja	y Shepherd		, of the City/Tow	n of		Toronto	
in the Prov	/ince/s	State of	Ont	ario		,	swear or aff	irm that:	
2. I have exar Being Claime 3. The attach Disbursemen Ontario Ener 4. This cost cl	mined and "Sured	all of the doo atement(s) o mmary of Fe g Claimed" i rd process re ses not inclu	cumentation in supp of Fees Being Claime les and Disbursement nclude only costs in deferred to above. de any costs for wor	oort of this d" and "Stants Being C curred and k done, or) and as such have kn cost claim, including atement(s) of Disburs claimed", "Statement I time spent directly f time spent, by a pen ection on Cost Award	g the at semen t(s) of F for the	ttached "Summa ts Being Claime Fees Being Claim purposes of th	ary of Fees a d". ned" and "St e Party's par	nd Disbursements atement(s) of ticipation in the
Signature (of Affi	iant							
			me at the City/T	own of		Tord	onto		,
in the Prov	/ince/s	State of	On	tario	, on	_	January-2 (date)		



Affidavit and Summary of Fees and Disbursements

Commissioner for taking Affidavits

File # EB- 2014-0002 Process: Horizon 2015-2019 Rates

Party: School Energy Coalition

S	summary of Fee	s and Disbursen	ents Being Claimed	
Legal/consultant/other fees	\$	51,750.00		
Disbursements	\$	-		
HST	\$	6,727.50		
Total Cost Claim	\$	58,477.50		

Payment Information

Make cheque payable to: Jay Shepherd Professional Corporation, in trust

Send payment to this address: 2300 Yonge Street

Suite 806

Toronto, Ontario

M4P1E4

Ontario Energy Board COST CLAIM FOR HEARINGS Affidavit and Summary of Fees and Disbursements



Page 3 of 3



File # EB-	2014-0002		Process: Horizon 2015-2019 Rates						
Party:	School Energy Coalition				Service Provider Name: Jay Shepherd				
				•	Year Called to		Complete Practising/Yea		
	SERVICE PROVIDER TYPE	(che	ck one	e)	Bar		Exper	ience	
	Legal Counsel		✓		1980		3	4	
	Articling Student/Paralegal								
	Consultant						Hourly Rate:	\$330	
	Analyst						•		
	For Consultant/Analyst:			ittache orovide	ed ed within previo		narged (enter %):	13.0%	

Statement of Fees Being Claimed										
S						1				
	Hours	Но	urly Rate		Subtotal		HST		Total	
Pre-hearing Conference										
Preparation		\$	330.00	\$	-	\$	-	\$	-	
Attendance		\$	330.00	\$	-	\$	-	\$	-	
Technical Conference										
Preparation	29.3	\$	330.00	\$	9,669.00	\$	1,256.97	\$	10,925.97	
Attendance	6.6	\$	330.00	\$	2,178.00	\$	283.14	\$	2,461.14	
Interrogatories										
Preparation	7.4	\$	330.00	\$	2,442.00	\$	317.46	\$	2,759.46	
Responses	6.1	\$	330.00	\$	2,013.00	\$	261.69	\$	2,274.69	
Issues Conference										
Preparation		\$	330.00	\$	-	\$	-	\$	-	
Attendance		\$	330.00	\$	-	\$	-	\$	-	
ADR - Settlement Conference										
Preparation	8.0	\$	330.00	\$	2,640.00	\$	343.20	\$	2,983.20	
Attendance	24.2	\$	330.00	\$	7,986.00	\$	1,038.18	\$	9,024.18	
Proposal Preparation	18.8	\$	330.00	\$	6,204.00	\$	806.52	\$	7,010.52	
Argument										
Preparation	5.3	\$	330.00	\$	1,749.00	\$	227.37	\$	1,976.37	
Oral Hearing										
Preparation	6.0	\$	330.00	\$	1,980.00	\$	257.40	\$	2,237.40	
Attendance	19.1	\$	330.00	\$	6,303.00	\$	819.39	\$	7,122.39	
Other Conferences										
Preparation	6.7	\$	330.00	\$	2,211.00	\$	287.43	\$	2,498.43	
Attendance		\$	330.00	\$	-	\$	-	\$	-	
Case Management		\$	170.00	\$	-	\$	-	\$	-	
TOTAL SERVICE PROVIDER FEES				Ś	45,375.00	\$	5,898.75	\$	51,273.75	



File# EB-	2014-0002	Process:	Horizon 2015	-2019 Rates	
		_			
Partv:	School Energy Coalition	Service Provide	er Name:	Jay Shenherd	

	Statement of Dis	bursements Being Claim	ed		
		Net Cost	HST	Tot	al
Scanning/Photocop	у			\$	-
Printing				\$	-
Courier				\$	-
Telephone/Fax				\$	-
Transcripts				\$	-
Travel: Air				\$	-
Travel: Car				\$	-
Travel: Rail				\$	-
Travel (Other):				\$	-
Parking				\$	-
Taxi				\$	-
Accommodation				\$	-
Meals				\$	-
Other:				\$	-
Other:				\$	-
Other:				\$	-
TOTAL DISBURSEME	NTS:	\$ -	\$ -	\$	-





File # EB-	2014-0002			Process: Horizon 2015-2019 Rates						
Party:	School Energy Coalition			Service P	rovider Name:	: Mark Rubenstein				
				Year Called to		Complete Practising/Yea				
	SERVICE PROVIDER TYPE	(che	ck one) Bar		Experi	ience			
	Legal Counsel		V	2011		3	3			
	Articling Student/Paralegal									
	Consultant					Hourly Rate:	\$170			
	Analyst						_			
	For Consultant/Analyst:		CV at	ttached	HST Rate Ch	narged (enter %):	13.0%			
			CV pr	rovided within previo	us 24 months					

tatement c	of Fe	ees Being	Cla	imed				
Hours	Но	ourly Rate	• •	Subtotal		HST		Total
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
21.6	\$	170.00	\$	3,672.00	\$	477.36	\$	4,149.36
3.2	\$	170.00	\$	544.00	\$	70.72	\$	614.72
1.5	\$	170.00	\$	255.00	\$	33.15	\$	288.15
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
	\$	170.00	\$	-	\$	-	\$	-
11.2	\$	170.00	\$	1,904.00	\$	247.52		2,151.52
	\$	170.00		-		-		-
	\$	170.00	\$	-	\$	-	\$	-
			\$	6.375.00	\$	828.75	Ś	7,203.75
	21.6 3.2	Hours How \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	Hours Hourly Rate	Hours Hourly Rate	\$ 170.00 \$ - \$ 170.00 \$ - \$ 170.00 \$ - \$ 170.00 \$ - \$ 170.00 \$ 3,672.00 3.2 \$ 170.00 \$ 544.00 1.5 \$ 170.00 \$ 255.00 \$ 170.00 \$ - \$ 170.00 \$ -	Hours Hourly Rate Subtotal	Hours Hourly Rate Subtotal HST	Hours Hourly Rate Subtotal HST



File # EB-	2014-0002	Process:	Horizon 2015-	2019 Rates
Partv:	School Energy Coglition	Service Provi	ider Name:	Mark Ruhenstein

	Statement of Di	sbursements Being Claim	ed		
		Net Cost	HST	Total	
Scanning/Photocop	у			\$	-
Printing				\$	-
Courier				\$	-
Telephone/Fax				\$	-
Transcripts				\$	-
Travel: Air				\$	-
Travel: Car				\$	-
Travel: Rail				\$	-
Travel (Other):				\$	-
Parking				\$	-
Taxi				\$	-
Accommodation				\$	-
Meals				\$	-
Other:				\$	-
Other:				\$	-
Other:				\$	-
TOTAL DISBURSEMI	ENTS:	\$ -	\$ -	\$	-



Date	Explanation	Lwyr	MR	JCS
20140510	Review NOI	JCS		0.1
20140513	emails/discuss w JCS	MR	0.3	
	Review notice, initial analysis of application and impacts,			
20140513	client report, meeting with Mark Rubenstein	JCS		2.0
20140514	review bill impact for GS>50 customers/emails	MR	1.9	
	Review application, draft and file Notice of Intervention,			
20140514	many emails	JCS		1.3
20140521	Review NOA	JCS		0.1
20140609	emails/review PO/disc w JCS	MR	0.5	
	Review PO#1 and scheduling, many emails, meeting with			
20140609	Mark Rubenstein	JCS		0.5
20140614	emails/review corr/review unredacted materials	MR	0.5	
20140618	review application	MR	1.5	
	review application	MR	4.0	
20140622	review application/draft IRs	MR	2.5	
20140625	review application/draft IRs	MR	4.5	
20140703	review DSP, ACA/draft IRs/disc w JCS	MR	5.5	
20140703	Draft and send IRs, review evidence, many emails	JCS		2.4
	complete IRs and file/edit and finalize/emails/draft cover			
20140704	letter/integrate JCS	MR	4.8	
20140704	Review IRs of others, many emails	JCS		1.0
20140705	review other parties IRs	MR	0.5	
	emails/ p. call and follow up w. Indy B.	MR	0.3	
20140710		MR	0.1	
20140731	review Hamilton Ltr/review PO/emails	MR	0.3	
	Various emails, meeting with Mark Rubenstein, review			
	evidence, review city correspondence and scheduling,			
	review PO#2	JCS		1.2
	emails/review IRR	MR	1.2	
	Review IR responses	JCS		1.1
	Many emails, scheduling	JCS		0.3
	review PO	MR	0.2	
	Review PO#3 and scheduling	JCS		0.3
	Review IR responses	JCS		1.8
20140811	review IRR	MR	2.0	
	Many emails, scheduling, review evidence, review HUC			
20140811		JCS		1.7
	find Labour in Motion material filed in other			
20140812	proceedings/disc w JCS	MR	0.3	

	Many emails, review IR responses, sign and send			
	declaration, prepare for TC, draft revise and file			
20140812	confidentiality submissions	JCS		4.6
20140813	emails	MR	0.1	
	Review IR responses, prepare for TC, many emails, client			
20140813	reporting, review staff submissions	JCS		4.0
20140814	emails/review conf reply sub	MR	0.4	
20140814	emails/review SEC TC/disc w JCS	MR	0.5	0.5
	Prepare and circulate efficiency table, many emails, review			
20140814	IR responses and TC questions of others, file TC question	JCS		6.1
	Review IR responses and TC questions, review evidence of			
	city, many emails, review benchmarking data, telephone			
20140815	call with PEG, review r	JCS		4.7
20140818	emails	MR	0.2	
	Review draft Issues list, many emails, prepare doe technical			
20140818	conference	JCS		2.7
20140819	disc w JCS	MR	0.2	
	Attend at Technical Conference, many emails, prepare for			
	ADR, review written answers, review Hamilton responses,			
20140819	review transcript	JCS		8.6
	emails/review final issues liust	MR	0.3	
	Many emails re Issues List, provide comments	JCS		1.1
20140821	·	MR	0.1	
20140821	Many emails, review PO#4, review TC notes	JCS		1.6
	review Horizon notice of motion	MR	0.3	
20140822	Many emails, review submissions	JCS		0.3
	Many emails, prepare for ADR	JCS		1.6
	review CoH corr/emails	MR	0.3	0.3
	Review TC undertakings, review Warner letter, review			
20140826	material from Niagara, many emails	JCS		1.3
	Attend at ADR, many emails, review Cost Allocation/Rate			
20140827	•	JCS		8.8
	disc w JCS	MR	0.2	
	Attend at ADR, many emails, review wording from Julie,			
	review OMTA proposal, Variance a/c model, revenue			
20140828		JCS		10.7
	disc w JCS	MR	0.2	
	Attend at ADR, many emails, report to client	JCS		4.7
	Telephone call with Mark Rodger	JCS		0.4
	review City of Hamilton motion	MR	0.3	
	Review PO#6, many emails	JCS		0.3
	Review City Motion	JCS		0.4
	Many emails, review proposal			0.4

20140911	Many emails	JCS		0.4
	Many emails	JCS		0.6
	Review agreement and edits	JCS		3.0
	Revise settlement proposal and circulate, many emails	JCS		2.2
	Many emails, review draft letter	JCS		0.3
	Many emails, review comments of others	JCS		0.6
	Review PO#7, many emails	JCS		0.2
20140918	· · · · · · · · · · · · · · · · · · ·	MR	0.2	
20140918	Various emails, review confidentiality decision	JCS		0.4
20140919	· · · · · · · · · · · · · · · · · · ·	MR	0.1	
	Many emails, review capital variance, calculations and			
20140919	scenarios, telephone call with Jamie and Indy	JCS		1.7
20140920		MR	0.2	
20140920	Edit agreement, review model and scheduling, many emails	JCS		5.8
	Many emails, re-analysis of capital variance account	JCS		1.4
	review correspondence	MR	0.2	
	Many emails, review final draft, review letter, review			
20140922		JCS		1.9
20140923	emails/review correspondence	MR	0.2	
	Many emails	JCS		0.3
20140924	· · · · · ·	MR	0.2	
20140924	Many emails	JCS		0.3
	emails/review corr	MR	0.3	
	Many emails, review affidavit, review further filings	JCS		0.7
20140926	•	MR	0.1	
	Many emails, review Board letter, review parties letters,			
20140926	review CVs	JCS		0.5
20140927	Many emails, prepare for hearing	JCS		1.1
20140928	Prepare for hearing, cross outline	JCS		3.1
20140929		MR	0.1	
20140929	Prepare for hearing, many emails, review staff submissions	JCS		1.6
	Attend at hearing, many emails, review transcript	JCS		6.8
20141001	emails	MR	0.1	
20141001	Attend at Hearing (internet), many emails	JCS		1.8
20141006	Many emails, review City of Hamilton material	JCS		0.7
20141007	emails	MR	0.2	
20141007	Many emails	JCS		0.1
20141008	emails/review CoH submissions	MR	0.3	
	Many emails, review submissions of others, prep for			
20141008	•	JCS		1.4
20141009	disc w JCS	MR	0.2	

	Attend at Hearing for Hamilton motion and presentation of			
20141009	settlement agreement, many emails	JCS		5.4
	Attend at Hearing (internet) for final argument, many			
20141010	emails, review transcript, review U/T responses	JCS		3.3
20141016	emails	MR	0.1	
20141016	Prep final argument, many emails	JCS		2.2
20141017	emails	MR	0.1	
	Attend at Hearing, final argument, many emails, review			
20141017	transcript, compile and file compendium	JCS		5.1
20141023	Review, reply argument transcript	JCS		1.0
20141027	review SEC Corr	MR	0.1	
20141027	Review cases, letter to Board, many emails	JCS		0.7
20141029	review decision on CoH moption	MR	0.2	
20141029	Review decision	JCS		0.3
20141104	Client reporting	JCS		0.4
20141211	review decision	MR	0.4	
20141211	Review decision	JCS		1.0
20141216	Various emails	JCS		0.1
20141217	Many emails	JCS		0.2
20141218	emails	MR	0.2	
20141219	Initial review of DRO, many emails	JCS		0.8
20141223	DRO review, many emails	JCS		3.2
	Totals		37.5	137.5